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CS302:Quiz #02 Quiz Start Time: 10:34 AM. 08 February 2018

Question #7 of 10 ( Start time: 10:40-21 AM. 08 February 2018 ) Total Marks: 1
Design of state diagram is one of many steps used to design

‘Select the correct option

[a clock

(@) ﬁ
[atruncated counter

(@) ﬁ
[an UP/DOWN counter

(@) ﬁ
[any counter

(@) ﬁ

Ciick

11:04 AM

a e





image8.png
Iz i LMS-Virtual University o X ¥ [ Quiz x‘G Design of state diagram x‘m Integrated circuits Quiz - x‘D Microsoft Word - C5302 X

¢ & C | ® quizvu.edu,pk/QuizQuestion.aspiver=37beadee-4d34-49d6-b85d-f154922009ae

google [1 PSYIOLhandouts 1 G MyDrive-GoogleD ([ MGTIOIquiz22016 [} NewTab G wuwgooglecompk
BC150403641: Muhammad Afzaal

CS302:Quiz #02

Question #8 of 10 ( Start time: 10:41:25 AM. 08 February 2018 )
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Quiz Start Time: 10:34 AM. 08 February 2018

Total Marks: 1

[Which one fip-fiop has an invalid output state?

‘Select the correct option

K

SR
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Question #9 of 10 ( Start time: 10:42:43 AM. 08 February 2018 )
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Total Marks: 1

[Three cascaded modulus-10 counters have an overall modulus of

‘Select the correct option

100

(@) ﬁ
1000

(@) ﬁ
10000
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Question # 10 of 10 ( Start time: 10:44:15 AM, 08 February 2018 ) Total Marks: 1
[A4- bit UPIDOIN counter is in DOVN mode and in the 1010 state. on the next clock pulse. to what state does the counter go?

‘Select the correct option
1001

(@) ﬁ
011

(@) ﬁ
foon

(@) ﬁ
1100

(@) ﬁ
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Question # 1 of 10 ( Start time: 10:34:04 AM. 08 February 2018 )
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Total Marks: 1

[Two states are said to be equal f they have

clly same.

‘Select the correct option

Inputs

[Outputs

Next state

None of the given options.
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Question #2 of 10 ( Start time: 10:35:04 AM. 08 February 2018 )
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Total Marks: 1

In mealy machine the output depends on

‘Select the correct option

fthe inputs

[the current state:

[current state and the inputs

None of the above.
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Question #3 of 10 ( Start time: 10:36:18 AM. 08 February 2018) Total Marks: 1
[fS=1 and R=0. then for positive edge tiggered fip-flop
Qg1
7
Select the correct option
o
(@) ﬁ
1
(@) ﬁ
Invalid
(@) ﬁ
Input is invalid
(@) ﬁ
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Question #4 of 10 ( Start time: 10:37:28 AM. 08 February 2018 )
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Total Marks: 1

[Each stage of Master-slave fip-flop works at___of the clock signal

‘Select the correct option

[Each stage works on complete clock signal

[One fourth

(¢]

[One third

[One half
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Question #35 of 10 ( Start time: 10:38:29 AM. 08 February 2018 ) Total Marks: 1

[Choose the best possible answer of following question
[The D flip-flop is only activated by.

‘Select the correct option
[a negative edge trigger

(¢] P

[a positive edge trigger

(¢] P

both positive & negative edge trigger

None of the given options.
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Question #6 of 10 ( Start time: 10:39:22 AM. 08 February 2018 ) Total Marks: 1
[The Synchranous counters are also known as Ripple Counters:
4
‘Select the correct option
[True
4
False
4
Showall | X
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